PICTURE

QTYy

DESCRIPTION

REPLACEMENT
MANUFACTURER & P/N

A/C Compressor and Bracket

Holley P/N 20-160

Assembly
1 Alternator Holley 197-303 (Black)
1 Pigtail Pigtail Holley 197-400

Alternator Mounting Bracket
with Hardware

Holley P/N 20-166

P/S Pump

Holley P/N 198-101

P/S Bracket
with Hardware

Holley P/N 20-165

P/S Hardline

Holley P/N 197-207




F/S Pulley

Holley P/N 97-152

ey Smooth Idler Pulley Holley P/N 97-150
(g SC Belt Tensioner GM# 2622452

Accessory Belt Tensioner

GM# 12628025

SC Double Idler Bracket

GM# 12606501

C-_ :._TI’:?:'\I
[/.-_.:; 1"'?3/
\‘}}J‘f SC Tensioner Bracket GM# 12606500
y {f&!
/"‘x
[ ) Top SC Idler Large GM# 12606031
N
4 Bottom SC Idler Small GM# 12606032
VW
Belt - Accessory BANDO# 6PK2047
)
S\

Belt - SC

GM# 12676726




HARDWARE Replacement Kit 97-263 Hardware Application
Q:‘? = 1 Flange (13mm Hex Head) Bolt Idler Pulley Bracket to Water
oL/ ME x 1.25 x 25 Pump
Q.,} - 3 Flange {13mm Hex Head) Bolt Double Idler Pulley Bracket to
&) M8 x 1.25 x 40 Water Pump
'fi'.';':-*_-ﬁ 2 Flange {(15mm Hex Head) Bolt Accessony Tensioner to Water
) M10x15x 40 Pump
’Q:* - ’ Flange {15mm Hex Head) Bolt SC Tensioner to Head (Top
&) M10x15x 45 Hole)
l\f o,
A " Flange {15mm Hex Head) Bolt
773 2 M10 % 1.5 % 55 Idler Pulley Bolts
G,
a\' : 5 Flange {15mm Hex Head) Bolt | (1) SC Tensioner fo Water Pump
M10 x 1.5 x 80 (1) SC Tensioner to Block
s
o,
g
Flange {(15mm Hex Head) Bolt :
" 1 M10 x 15 x 100 SC Tensioner to Bracket
oy

Included Only With: 20-163BK

Fis \‘\. .
i Alterator Pulley Cover & O-ring
& 1 (Black) Holley PN 97-187
7
5 al AJC Compressor Pulley Cover & A
' 9 1 Hardware (Black) Holley P/N 97-185
Y I




	Screenshot 2022-01-25 143132.pdf
	Screenshot 2022-01-25 143152.pdf
	Screenshot 2022-01-25 143658.pdf

